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Vertexing with pileup.. o core

Ocm in 400nA

Solid Black: good e+e- tracks
Black Errors: &&|V1|<200u&&
pT<|00MeV&&X?(vertex)<250
Blue: &&>0 mishits

...~500k events with pileup;
can run more!

Z,(mm)
RMS(Z,) f(>4mm) f(>1cm)
No Pileup 6x107
e 1.05 0.005 (0.16) onn
400nA 271075
(etrors 119 0.011 (0.50) 074




Black: no bad hits

Tails in depth...

Blue: | bad hit ++
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V; - Vy correlation with mishits

gross
exaggeration

...taking a wrong hit from closer to the beam (where
occupancy is high!) will pull vertex to higher Z.
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